

COUNTY OF SANTA BARBARA DEPARTMENT OF PUBLIC WORKS

CONTRACT
FOR
CONSTRUCTION OF 2013/14
COUNTY WIDE
HMA OVERLAY AND SAMI
IN THE COUNTY OF SANTA BARBARA
COUNTY PROJECT NO. 810541

TRANSPORTATION DIVISION

SCOTT D. McGOLPIN
DIRECTOR OF PUBLIC WORKS



COUNTY OF SANTA BARBARA AGREEMENT FOR:

County Project No. 810541

Auditor - Controller Contract No. 14-152

THIS AGREEMENT is made by and between, the County of Santa Barbara a political subdivision of the State of California, hereinafter called **COUNTY**, and Calportland Construction hereinafter referred to as **CONTRACTOR**, for the completion of the work identified herein, on the following terms, conditions and provisions:

1. CONTRACT

This agreement includes and incorporates by reference all Contract Documents.

The Contract is comprised of all documents distributed to bidders as part of the Bid Package, including, but not limited to:

- 1. Special Provisions
- 2. Project Plans
- 3. State of California, Department of Transportation 2010 Standard Specifications
- 4. State of California, Department of Transportation 2010 Standard Plans
- 5. State of California, Department of Transportation 2010 Revised Standard Specification
- 6. County of Santa Barbara, Department of Public Works, Standard Details dated September 2011
- 7. Santa Barbara County Code
- 8. Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished
- 9. The Proposal executed and submitted by the Contractor
- 10. Notice to Bidders
- 11. The Faithful Performance and Payment Bonds, and
- 12. Any Addenda

The Contractor acknowledges receipt of all such documents as were not already in the Contractor's possession. Said incorporated documents are referred to herein as the "Contract" or "Contract Documents"

Copies of all said documents are on file in the Department of Public Works Office of the COUNTY and have been and will be made available to the CONTRACTOR during the term of this Agreement.

The Special Provisions for the work to be done are entitled:

COUNTY OF SANTA BARBARA; NOTICE TO BIDDERS AND SPECIAL PROVISIONS FOR CONSTRUCTION OF 2013/14 COUNTY WIDE HMA OVERLAY AND SAMI IN THE COUNTY OF SANTA BARBARA

The project plans for the work to be done are entitled:

COUNTY OF SANTA BARBARA; STATE OF CALIFORNIA; DEPARTMENT OF PUBLIC WORKS; PLANS FOR THE CONSTRUCTION OF COUNTY WIDE HMA OVERLAY AND SAMI IN THE COUNTY OF SANTA BARBARA

2. WORK

CONTRACTOR agrees, at his own proper cost and expense, to do all the work and furnish all equipment and materials, except such as mentioned in the specifications to be furnished by the County, necessary to perform and complete the work described in the documents referred to above, in a good and workmanlike manner to the satisfaction of the Director of Public Works of said COUNTY, all in strict accordance with the Plans and the Contract Documents provided.

3. PAYMENTS NOT ACCEPTANCE

No certificate given or payments made under this Contract shall be evidence of the performance of this Contract, either wholly or in part, against any claim upon CONTRACTOR. Final payment for the work performed under this Contract shall not be made until the lapse of thirty (30) days after the Notice of Completion of said work has been filed for record and no payment shall be construed to be acceptance of any defective work or improper materials. CONTRACTOR's acceptance of payment for final quantities due under this Contract and the payment of undisputed contract amounts due for any work in accordance with any amendments of this Contract, shall release the County of Santa Barbara from any and all claims or liabilities on account of work performed under this Contract or any amendments thereof related to those amounts. In addition to guarantees required elsewhere, CONTRACTOR shall and does hereby guarantee all workmanship and material to be free of defects for a period of one year from and after the recordation of the Notice of Completion by the COUNTY, and CONTRACTOR shall repair or replace any or all work and material, together with any other portions of the work which may be displaced in so doing, that in the opinion of the Engineer, is or becomes defective during the period of said guarantee without expense whatsoever to the COUNTY.

- **4. EXECUTION OF COUNTERPARTS** This Agreement may be executed in any number of counterparts and each of such counterparts shall for all purposes be deemed to be an original; and all such counterparts, or as many of them as the parties shall preserve undestroyed, shall together constitute one and the same instrument."
- 5. RECORDS, AUDIT, AND REVIEW CONTRACTOR shall keep such business records pursuant to this Agreement as would be kept by a reasonably prudent practitioner of CONTRACTOR'S profession and shall maintain such records for at least four (4) years following the termination of this Agreement. All accounting records shall be kept in accordance with generally accepted accounting practices. County shall have the right to audit and review all such documents and records at any time during CONTRACTOR'S regular business hours or upon reasonable notice.
- **6. PAYMENT** As full compensation for furnishing all labor, supervision, overhead, materials and equipment and for doing all the work completed and embraced in this Agreement and subject to adjustments and liquidated damages, if any, as provided in the Contract Documents, the base amount to be paid to the CONTRACTOR for satisfactory completion of all requirements of the CONTRACTOR under this Agreement is and shall be \$1,564,273.10, to be paid as provided in the Contract Documents.

The Engineer is authorized to order, as change order work, the performance of supplemental work itemized in the attached Estimate of Job Costs, totaling \$115,620 to be paid as provided in the Contract Documents. In no event shall the County be liable for the cost of any supplemental work unless approved in advance and in writing by the Engineer.

The Engineer is authorized to order, as change order work, changes and additions to the work being performed under this contract in an amount not to exceed \$96,494.66 (Contingency) in accordance with California Public Contract Code Sections 20142 and 20395, as applicable, to be paid as provided in the Contract Documents. In no event shall the County be liable for the cost of any changes or additions to work being performed under this contract unless approved in advance and in writing by the Engineer.

CO	NT	'RA	CT	OR
		IV	.	OI.

BY: ____

License No. <u>523019</u>

Business Type: Corporation

BID ITEM LIST

Item No	P-F	Item Code	Description	Unit Qua		Unit Price	Item Total
1		130200	WATER POLLUTION CONTROL PROGRAM	ATER POLLUTION CONTROL PROGRAM LS 1 \$3,300.00		\$3,300.00	\$3,300.00
FIRST	SUPL	ERVISOF	RIAL DIST. (Area 1001,1021)				
2		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$30,000.00	\$30,000.00
3		152402	ADJUST WATER VALVE COVER TO GRADE	EA	10	\$500.00	\$5,000.00
4		152440	ADJUST MANHOLE COVER TO GRADE	EA	8	\$700.00	\$5,600.00
5		153112	COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX)	SY	830	\$7.00	\$5,810.00
6		153118	COLD PLANE ASPHALT CONCRETE PAVEMENT FULL WIDTH GRIND (0.20' MAX)	SY	4,685	\$3.50	\$16,397.50
7		390132	HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM GRADING)	TON	960	\$103.00	\$98,880.00
8		390135	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER)	TON	189	\$117.00	\$22,113.00
9		390136	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING AC DIKE)	TON	17	\$93.00	\$1,581.00
10		391031	PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER)	TON	2	\$550.00	\$1,100.00
11		393001	GEOSYNTHETIC, PAVEMENT INTERLAYER	SY	1,240	\$1.40	\$1,736.00
12		394073	REMOVE AND PLACE HOT MIX ASPHALT DIKE (TYPE A)	LF	600	\$5.00	\$3,000.00
13		397001	ASPHALT EMULSION (PAINT BINDER)	TON	3	\$550.00	\$1,650.00
14		840656	PAINT TRAFFIC STRIPE (2-COAT)	LF	2,545	\$0.20	\$509.00
15		840666	PAINT PAVEMENT MARKING (2-COAT)	SF	595	\$2.00	\$1,190.00
16		850113	PAVEMENT MARKER (BLUE REFLECTIVE, FIRE HYDRANT)	EA	5	\$10.00	\$50.00
		Bid Item	s (Subtotal)		•		\$194,616.50
17		066070	SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION)	LS	1	\$4,000.00	\$4,000.00
18		066075	SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN)	LS	1	\$2,000.00	\$2,000.00
19		066670	SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION)	LS	1	\$7,629.00	\$7,629.00
		Supplem	nental Items (Subtotal)				\$13,629.00
		First Dis	t. Bid Items Added to Supplemental Item	s Tota	ıl:		\$208,245.50
SECO	OND S	I IPERVI:	SORIAL DIST. (Area 2041)				
20	1100	120100	TRAFFIC CONTROL SYSTEM	LS	1	\$22,000.00	\$22,000.00
21		152400	ADJUST SEWER CLEANOUT TO GRADE	EA	2	\$550.00	\$1,100.00
22		152402	ADJUST WATER VALVE COVER TO GRADE	EA 11 \$500.00		\$5,500.00	

County Project No. 810541

EΑ

SY

11

3,975

\$650.00

\$3.00

ADJUST MANHOLE COVER TO GRADE

COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX)

23

24

152440

153112

\$7,150.00

\$11,925.00

Item No								
153118	Item No	P-F	12,17,100,000	Description	Unit	Quantity	Unit Price	Item Total
190185 MATERIAL STA 1 \$1,200.00 \$1,200.00	25		153118			690	\$6.50	\$4,485.00
SURFACING CY 3 \$550.00 \$1,650.00	26		190185		STA	1	\$1,200.00	\$1,200.00
28 390132 GRADING 10 1,223 393.00 3121,273.00 29 390135 HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER) TON 353 \$112.00 \$39,536.00 397001 ASPHALT EMULSION (PAINT BINDER) TON 4 \$550.00 \$2,200.00 31 840656 PAINT TRAFFIC STRIPE (2-COAT) LF 995 \$0.20 \$199.00 32 840666 PAINT PAVEMENT MARKING (2-COAT) SF 370 \$2.00 \$740.00 33 850111 PAVEMENT MARKER (RETROREFLECTIVE) EA 2 \$4.00 \$8.00 34 850113 PAVEMENT MARKER (BLUE REFLECTIVE, EA 4 \$10.00 \$40.00 35 Bid Items (Subtotal) \$219,008.00 35 066070 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) LS 1 \$4,000.00 \$4,000.00 36 066075 SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN) LS 1 \$2,000.00 \$2,000.00 37 066670 SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION) LS 1 \$10,117.00 \$10,117.00 Supplemental Items (Subtotal) \$16,117.00 \$16,117.00	27		390095		CY	3	\$550.00	\$1,650.00
390135 GRADING LEVELER) 10N 353 \$112.00 \$393,356.00	28		390132		TON	1,225	\$99.00	\$121,275.00
31	29		390135		TON	353	\$112.00	\$39,536.00
32 840666 PAINT PAVEMENT MARKING (2-COAT) SF 370 \$2.00 \$740.00 33 850111 PAVEMENT MARKER (RETROREFLECTIVE) EA 2 \$4.00 \$8.00 34 850113 PAVEMENT MARKER (BLUE REFLECTIVE, FIRE HYDRANT) EA 4 \$10.00 \$40.00 35 066070 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) LS 1 \$4,000.00 \$4,000.00 36 066075 SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN) LS 1 \$2,000.00 \$2,000.00 37 066670 SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION) LS 1 \$10,117.00 \$10,117.00 Supplemental Items (Subtotal)	30		397001	ASPHALT EMULSION (PAINT BINDER)	TON	4	\$550.00	\$2,200.00
33 850111 PAVEMENT MARKER (RETROREFLECTIVE) EA 2 \$4.00 \$8.00 34 850113 PAVEMENT MARKER (BLUE REFLECTIVE, FIRE HYDRANT) EA 4 \$10.00 \$40.00 35 066070 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) LS 1 \$4,000.00 \$4,000.00 36 066075 SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN) LS 1 \$2,000.00 \$2,000.00 37 066670 SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION) \$10,117.00 Supplemental Items (Subtotal) \$16,117.00	31		840656	PAINT TRAFFIC STRIPE (2-COAT)	LF	995	\$0.20	\$199.00
34 850113 PAVEMENT MARKER (BLUE REFLECTIVE, FIRE HYDRANT) EA 4 \$10.00 \$40.00	32		840666	PAINT PAVEMENT MARKING (2-COAT)	SF	370	\$2.00	\$740.00
Bid Items (Subtotal) \$219,008.00 \$219,008.00 \$35	33		850111	PAVEMENT MARKER (RETROREFLECTIVE)	EA	2	\$4.00	\$8.00
35 066070 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) LS 1 \$4,000.00 \$4,000.00 \$4,000.00 \$66075 SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN) LS 1 \$2,000.00	34		850113		EA	4	\$10.00	\$40.00
35 066070 TRAFFIC, COUNTY PORTION) LS 1			Bid Item	s (Subtotal)	_			\$219,008.00
36	35		066070		LS	1	\$4,000.00	\$4,000.00
Supplemental Items (Subtotal) \$10,117.00 \$16,117.00 \$16,117.00	36		066075		LS	1	\$2,000.00	\$2,000.00
	37		066670		LS	1	\$10,117.00	\$10,117.00
Second Dist. Bid Items Added to Supplemental Items Total: \$235,125.00			Supplem	nental Items (Subtotal)				\$16,117.00
		_	Second	Dist. Bid Items Added to Supplemental It	ems 7	otal:		\$235,125.00

THIRD SUPERVISORIAL DIST. (Area 3001,3042,3051)

111110	LICE	MAL DIO 1. (AICA 3001,3042,0001)				
38	120100	TRAFFIC CONTROL SYSTEM	LS	1	\$55,000.00	\$55,000.00
39	152400	ADJUST SEWER CLEANOUT TO GRADE	EA	1	\$550.00	\$550.00
40	152402	ADJUST WATER VALVE COVER TO GRADE	EA	14	\$500.00	\$7,000.00
41	152440	ADJUST MANHOLE COVER TO GRADE	EA	14	\$650.00	\$9,100.00
42	153112	COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX)	SY	4,335	\$4.00	\$17,340.00
43	153118	COLD PLANE ASPHALT CONCRETE PAVEMENT FULL WIDTH GRIND (0.20' MAX)	SY	825	\$5.00	\$4,125.00
44	190185	SHOULDER BACKING IMPORTED MATERIAL	STA	156	\$170.00	\$26,520.00
45	370120	ASPHALT-RUBBER BINDER	SY	10,797	\$3.84	\$41,460.48
46	375030	SCREENINGS (HOT APPLIED)	SY	10,797	\$3.84	\$41,460.48
47	390132	HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM GRADING)	TON	3,602	\$79.00	\$284,558.00
48	390135	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER)	TON	1,282	\$92.00	\$117,944.00
49	390136	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING AC DIKE)	TON	2	\$123.00	\$246.00
50	391031	PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER)	TON	14	\$550.00	\$7,700.00

Item No	P-F	Item Code	Description		Quantity	Unit Price	Item Total
51		393001	GEOSYNTHETIC, PAVEMENT INTERLAYER	SY	14,515	\$1.00	\$14,515.00
52		394073	REMOVE AND PLACE HOT MIX ASPHALT DIKE (TYPE A)	LF	50	\$6.00	\$300.00
53		397001	ASPHALT EMULSION (PAINT BINDER)	TON	11	\$550.00	\$6,050.00
54		840656	PAINT TRAFFIC STRIPE (2-COAT)	LF	12,360	\$0.20	\$2,472.00
55		840666	PAINT PAVEMENT MARKING (2-COAT)	AT) SF 1,150 \$2.00		\$2,300.00	
56		850113	PAVEMENT MARKER (BLUE REFLECTIVE, FIRE HYDRANT)			\$50.00	
		Bid Item	s (Subtotal)				\$638,690.96
57		066070	SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION)	LS	1	\$6,000.00	\$6,000.00
58		066075	SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN)	LS	1	\$3,000.00	\$3,000.00
59	9 066670 SUPPLEMENTAL FUNDS (ASPHALT PRICE LS 1 \$34,917.00					\$34,917.00	
	\$43,917.00						
		\$682,607.96					

FOURTH SUPERVISORIAL DIST. (Area 4081)

60	120100	TRAFFIC CONTROL SYSTEM	LS	1	\$23,000.00	\$23,000.00
61	152400	ADJUST SEWER CLEANOUT TO GRADE	EA	1	\$550.00	\$550.00
62	152402	ADJUST WATER VALVE COVER TO GRADE	EA	1	\$500.00	\$500.00
63	153112	COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX)	SY	385	\$16.00	\$6,160.00
64	370120	ASPHALT-RUBBER BINDER	SY	6,523	\$3.84	\$25,048.32
65	375030	SCREENINGS (HOT APPLIED)	SY	6,523	\$3.84	\$25,048.32
66	390132	HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM GRADING)	TON	1,793	\$75.00	\$134,475.00
67	390135	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER)	TON	475	\$90.00	\$42,750.00
68	390136	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING AC DIKE)	TON	181	\$80.00	\$14,480.00
69	391031	PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER)	TON	4	\$550.00	\$2,200.00
70	393001	GEOSYNTHETIC, PAVEMENT INTERLAYER	SY	2,860	\$1.35	\$3,861.00
71	394073	REMOVE AND PLACE ASPHALT CONCRETE DIKE (TYPE A)	LF	6,620	\$2.50	\$16,550.00
72	397001	ASPHALT EMULSION (PAINT BINDER)	TON	6	\$550.00	\$3,300.00
73	840656	PAINT TRAFFIC STRIPE (2-COAT)	LF	10,935	\$0.20	\$2,187.00
74	840666	PAINT PAVEMENT MARKING (2-COAT)	SF	140	\$2.00	\$280.00
75	850111	PAVEMENT MARKER (RETROREFLECTIVE)	EA	141	\$4.00	\$564.00
	\$300,953.64					

Item No	P-F	Item Code	Description	Unit	Quantity	Unit Price	Item Total
76		066070	SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION)	\$4,000.00			
77		066075	SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN)	\$2,000.00			
78		066670	SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION)	\$17,517.00			
	\$23,517.00						
			\$324,470.64				

FIFTH SUPERVISORIAL DIST. (Area 5001)

JOPENVIS	oon	MAL DIST. (Alea 3001)						
12010	00	TRAFFIC CONTROL SYSTEM	LS	1	\$12,700.00	\$12,700.00		
1531	12	COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX)	SY	280	\$17.00	\$4,760.00		
19018	35	SHOULDER BACKING IMPORTED MATERIAL	STA	84	\$160.00	\$13,440.00		
3901:	32	HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM GRADING)	TON	1,398	\$75.00	\$104,850.00		
3901	35	HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER)	TON	603	\$82.00	\$49,446.00		
39103	31	PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER)	TON	13	\$550.00	\$7,150.00		
39300)1	GEOSYNTHETIC, PAVEMENT INTERLAYER	SY	11,895	\$1.00	\$11,895.00		
39700)1	ASPHALT EMULSION (PAINT BINDER)	TON	5	\$550.00	\$2,750.00		
8406	56	PAINT TRAFFIC STRIPE (2-COAT)	LF	3,565	\$0.20	\$713.00		
Bid Ite	ems	s (Subtotal)				\$207,704.00		
06607	70	SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION)	LS	1	\$3,000.00	\$3,000.00		
06607	75	SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN)	LS	1	\$1,500.00	\$1,500.00		
0666	70	SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION)	LS	1	\$13,940.00	\$13,940.00		
Supplemental Items (Subtotal)								
Fifth I	Dist	t. Bid Items Added to Supplemental Items	s Tota	l:		\$226,144.00		
	12010 1531 19018 39013 39013 39103 39300 39700 84068 Bid Ite 06607 06667 06667	120100 153112 190185 390132 390135 391031 393001 397001 840656 Bid Items 066070 066075 066670 Supplem	153112 COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX) 190185 SHOULDER BACKING IMPORTED MATERIAL 390132 HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM GRADING) 390135 HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER) 391031 PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER) 393001 GEOSYNTHETIC, PAVEMENT INTERLAYER 397001 ASPHALT EMULSION (PAINT BINDER) 840656 PAINT TRAFFIC STRIPE (2-COAT) Bid Items (Subtotal) 066070 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) 066075 SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN) 066670 SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION) Supplemental Items (Subtotal)	120100 TRAFFIC CONTROL SYSTEM COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX) 190185 SHOULDER BACKING IMPORTED MATERIAL 390132 HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM GRADING) 390135 HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM GRADING LEVELER) 391031 PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER) 393001 GEOSYNTHETIC, PAVEMENT INTERLAYER SY 397001 ASPHALT EMULSION (PAINT BINDER) TON 840656 PAINT TRAFFIC STRIPE (2-COAT) Bid Items (Subtotal) 066070 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) 066075 CHANGEABLE MESSAGE SIGN) SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION) Supplemental Items (Subtotal)	120100 TRAFFIC CONTROL SYSTEM LS 1	120100 TRAFFIC CONTROL SYSTEM LS 1 \$12,700.00 153112 COLD PLANE ASPHALT CONCRETE PAVEMENT FOR STREET AND DRIVEWAY CONFORM (0.15' MAX) SHOULDER BACKING IMPORTED MATERIAL 190185 SHOULDER BACKING IMPORTED MATERIAL STA 84 \$160.00 390132 HOT MIX ASPHALT (TYPE A, 1/2" MAXIMUM TON 1,398 \$75.00 390135 HOT MIX ASPHALT (TYPE A, 3/8" MAXIMUM TON 603 \$82.00 391031 PAVING ASPHALT (BINDER, GEOSYNTHETIC PAVEMENT INTERLAYER) TON 13 \$550.00 393001 GEOSYNTHETIC, PAVEMENT INTERLAYER SY 11,895 \$1.00 397001 ASPHALT EMULSION (PAINT BINDER) TON 5 \$550.00 840656 PAINT TRAFFIC STRIPE (2-COAT) LF 3,565 \$0.20 Bid Items (Subtotal) LS 1 \$3,000.00 066075 SUPPLEMENTAL WORK (MAINTAIN TRAFFIC, COUNTY PORTION) LS 1 \$1,500.00 066076 SUPPLEMENTAL WORK (PORTABLE CHANGEABLE MESSAGE SIGN) LS 1 \$1,500.00 066070 SUPPLEMENTAL FUNDS (ASPHALT PRICE INDEX FLUCTATION) LS 1 \$13,940.00 Supplemental Items (Subtotal)		

PROJECT TOTALS	\$1,679,893.10
PROJECT TOTALS	\$1,679

				Cours	ty of Santa Bar	nara				
			Dei		Public Works T		n			
ata da basas			DE	DESCRIPTION OF THE PARTY OF THE	CAN PRODUCTION TRANSPORTS TO SEE A		Carlo Paragraph	1 (1) (1		4634 46
921500207020009	492240070007400	34.36.00.20.00.00.00.00.00	CU TORONO MATERIA DE LA PROPERTO DE LA PERSONA DE LA PE	Esti	mate of Job Co	sts				
				经济和 的特色			中有一种	- 1000		
	DACED	ON DIDE OF	CalDortland Const	rustion Inc						
	BASED	ON BIDS OF:	CalPortland Const	truction, inc.		-				
	D	ATE OPENED:	October 22, 2013		NTRACT/PROJI FEDERAL PROJI			810541 N/A		
DESCRIPTION	:	2013-14 Cou	ntywide HMA Ove	rlay						
										9
				经 不是否定			en Alexandre de la la	第二条件的条件		山道建設部
Bid Amount:									\$	1,564,273.10
Supplementa			•				1 1	1		
Item No.	Item Code	Item	Description				Qty.	Unit	Unit Cost	Total
SUPPLEMENT							_			
FIRST DISTRIC			TAL MODIL (MANINE	TAINI TO A CCI	C COUNTY DO	TION	1	LS	\$4,000.00	\$4,000.00
17	966070		TAL WORK (MAIN [*] TAL WORK (PORTA				1	LS	\$2,000.00	\$2,000.00
18	966075 066670		TAL FUNDS (ASPH.				1	LS	\$7,629.00	\$7,629.00
19	066670	SUPPLEIVIEN	TAL FUNDS (ASPIT	ALI PRICE III	T TOCIAII	ON)	FIRST DISTRIC		\$7,025.00	\$13,629.00
		-				-	TIKST DISTRIC	I JODIOTAL.		\$15,025.00
SECOND DIST	DICT SUIDDI S	I MENTAL ITEM	1							
			TAL WORK (MAIN	TAIN TRACEI	C COLINITY PO	RTION)	1	LS	\$4,000.00	\$4,000.00
35	966070		TAL WORK (PORTA				1	LS	\$2,000.00	\$2,000.00
36	966075		TAL FUNDS (ASPH				1	LS	\$10,117.00	\$10,117.00
37	066670	SUPPLEIVIEN	TAL PUNDS (ASPIT	ALI PRICE II			SECOND DISTRI			\$16,117.00
							JECOND DISTRI	CI JOBIOIA		\$10,117.00
TIUDD DISTRI	CT CLIDDLEN	IENITAL ITEMS								
	966070	IENTAL ITEMS	TAL WORK (MAIN	TAIN TRAFFI	C COLINTY PO	RTION	1	LS	\$6,000.00	\$6,000.00
57 58	966075		TAL WORK (PORTA				1	LS	\$3,000.00	\$3,000.00
59	066670		TAL FUNDS (ASPH				1	LS	\$34,917.00	\$34,917.00
39	000070	SOFFLEWEN	TAL FORDS (ASI II	ALITAICE	I		THIRD DISTRIC			\$43,917.00
				 	+		1			_
FOURTH DIST	RICT SLIPPLE	EMENTAL ITEM	AS.							
76	966070		TAL WORK (MAIN	TAIN TRAFFI	IC. COUNTY PO	RTION)	1	LS	\$4,000.00	\$4,000.00
77	966075		TAL WORK (PORTA				1	LS	\$2,000.00	\$2,000.00
78	066670		TAL FUNDS (ASPH				1	LS	\$17,517.00	\$17,517.00
							FOURTH DISTR	CT SUBTOTA	L:	\$23,517.00
CICTU DISTRI	CT CLIDDI EM	ENTAL ITEMS				<u> </u>				
88	966070		TAL WORK (MAIN	ΤΔΙΝ ΤΡΔΕΕ	IC COLINTY PO	RTION)	1	LS	\$3,000.00	\$3,000.00
89	966075		TAL WORK (PORTA				1	LS	\$1,500.00	\$1,500.00
90	066670		TAL FUNDS (ASPH				1	LS	\$13,940.00	\$13,940.00
90	000070	JOFFLEIVICIN	TAL I ONDS (MOPIL	ALT I MICE II	IDENT LOCIAL	1	FIFTH DISTRIC			\$18,440.00
	L					SUPP	LEMENTAL ITEM			\$115,620.00
						3071		Subtotal	\$	1,679,893.10
1							Adjusted Co	ontingencies	\$	96,494.66
I						Tota	I Construction A		\$	1,776,387.76
					F ₁ = 1	, 510			3 N 7	1 1/10
*					SU	STOTAL CON	STRUCTION AUT	HORIZATION	\$	1,776,387.76
			County Furnished	d Materials						
								9		
								Subtotal	\$	1,776,387.76
				Adjusted	County Furnish	ed Materials	and Expenses C	ontingencies	\$	-
				•				uthorization		1,776,387.76

. . . .

By:		V.	
Chairperson, Board	d of Supe	rvisors	
of the County of Sa	ınta Barb	ara	

By: A Colpin Scott D. McGolpin Director of Public Works

ATTEST:

Terri Maus-Nisich, Interim County Executive Officer Clerk of the Board

BY: Deputy

APPROVED AS TO FORM:

Dennis Marshall, County Counsel

Deputy County Counsel

APPROVED AS TO ACCOUNTING FORM:

Robert W. Geis, C.P.A.

Auditor-Controller

Fiscal Responsibility

APPROVED AS TO FORM:

Ray Aromatorio Risk Manager

BY: Marane Come

Dept.	Division	Subdivision	Program	Org Unit	Fund	Account	Area
054	02	СМ	2710	0500	0016	7510	1001,1021,2041,3001, 3042,3051,4081,5001

CERTIFICATE OF COMPLIANCE

n ; . . .

This is to certify that all requirements for insurance of subcontractors as specified for this project have been met.

Calportland Construction

By

David McAuley

Vice President

Title

11-4-2013

Date

CALIFORNIA LABOR CODE SECTION 1860 AND 1861 CERTIFICATION

I am aware of the provisions of Section 3700 of the Labor Code which requires every employer to be insured against liability for worker's compensation or to undertake self–insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

By

David McAuley

Vice President

Title

11-4-2013

Date

(Submit completed form with your Agreement, Bonds and Certificates of Insurance)

Contract Summary

Complete data below, print, obtain signature of authorized departmental representative, and submit this form (and attachments) to the Clerk of the Board (>\$100,000) or to Purchasing (<\$100,000). See also: Auditor-Controller Intranet Policies->Contracts, Form is not applicable to revenue contracts.

	to not applicable to revenue contracts.	
D1.	Fiscal Year	. Monday, December 02, 2013
D2.	Department Name	Transportation / Engineering
D3.	Contact Person	. Walter Rubalcava
D4.	Telephone	. (805) 568-3047
K1.	Contract Type	Construction
K2.	Brief Summary of Contract Description/Purpose	
K3.	Department Project Number	. 810541
K4.	Original Bid Amount	\$1,564,273.10
K4a	Supplemental	\$115,620
K4b	Contingency	\$96,494.66
K4c	Total Contract Amount	\$1,776,387.76
K5.	Contract Begin Date	Monday, December 02, 2013
K6.	Original Contract End Date	
K7.	Amendment? (Yes or No)	
K8.	- Total Number of Amendments	
K9.	- This Amendment Amount	
K10.	- Total Previous Amendment Amounts	
K11.	- Revised Total Contract Amount	. \$
IXII.	- Nevised Total Contract Amount	. Φ
B1.	Is this a Board Contract? (Yes/No)	
B2.	Number of Workers Displaced (if any)	None
B3.	Number of Competitive Bids (if any)	
B4.	If Board waived bids, show Agenda Date	
	and Agenda Item Number	
B5.	Boilerplate Contract Text Changed? (If Yes, cite Paragraph)	
F1.	Fund Number	0016
F2.	Department Number	054
F3.	Line Item Account Number	7510
F4.	Project Number (if applicable)	810541
F5.	Program Number (if applicable)	2710
F6.	Org Unit Number (if applicable)	0500
F7.	Payment Terms	NET 30
		1,121,00
V1.	Auditor-Controller Vendor Number	
V2.	Payee/Contractor Name	Calportland Construction
V3.	Mailing Address	1625 E. Donovan
V4.	City State (two-letter) Zip (include +4 if known)	Santa Maria, Ca 93454
V5.	Telephone Number	Calportland Construction
V6.	Vendor Contact Person.	Calportland Construction
V7.	Workers Comp Insurance Expiration Date	Calportana Construction
V8.	Liability Insurance Expiration Date	
V9.	Professional License Number	93454
V3. V10	Verified by (print name of county staff)	
V11	Company Type (Check one): Individual Sole Propr	rietorship Partnership Corporation
I certify information is complete and accurate; designated funds available; required concurrences evidenced on signature page.		
D-4	Authorized Signature:	
Date: _	Additionized Signature.	

SPECIAL PROVISIONS

FOR

CONSTRUCTION OF 2013/14
COUNTY WIDE
HMA OVERLAY AND SAMI
IN THE COUNTY OF SANTA BARBARA

COUNTY PROJECT NO. 810541

The special provisions contained herein have been prepared under the direction of the following Registered Persons.

PROJECT MANAGER

9 | 26 | 13

DATE

Walter Rubalcava No. C60965

Exp. 12/31/14

CIVIL

APPROVED - CHAIR BOARD OF SUPERVISORS

DATE

9 | 24 | 20 | 3

DATE

11-12-13

DATE